N
N
AN

W, D T FIBE B / Dimension limit range

EBRAZA / Components
No. %% / Part name #E / Pcs '8 / Material &« REWIE / Color-Finish
1 JL—L 4 TILSIRH#T A6063S-T5 DIWIN=TIIA, TSVITILIA+
Frame Extruded aluminium A6063S-T5 Silver , Black = Anodized
2 a—+—Javs 4 ABS#HiAE UL94HB SANTL—, TS5vY
Corner block ABS UL94HB Light gray , Black
3 3—4—3F v / Blind plug 8 ISANY / TPE SA+5L—, 759% / Light gray , Black
4 INASAFH ISR L 1 7ILEHR A1100P DILIN=T LI, TSV - BE
Slide panel Aluminium A1100P Silver = Anodized , Black * Painted
5 RCIESH/ R 1 7 L3R A1100P DILIN=TF AL, TS5y - BE
Screwed panel Aluminium A1100P Silver * Anodized , Black * Painted
6 HUFE R (X M4 x 15) 16 &% ={foRi—k
Screw (Pan head M4 - 15) Steel Trivalent chromate
7 BATE R (FE{F4M M3 x 5) 8 % Zub LAy ZESRA—k
Screw (Slotted raised countersunk M3 — 5) Steel Nickel plated , Black trivalent chromate
5
7
2
& p7
3
® e AR
" X S &
6
(2 )
1
4
‘r—RXEE FCS - - 75
Product Number
w D BT
Color Code

W D
400~600 400~600
mmfa/Title A —
TAKACHI| B%XEHshFEMTE 1— S O
ik (BUFEXKRED) / Color Type (End product number]) - = FV—YARRIIR <J |
EE% / Code /\o*}l/ / Panel 7l/_A / Frame :_j—_ / Cornel’ TAKACHI ELECTRONICS ENCLOSURE CO., LTD. CUSTOM DIMENSIONS BOX R,_._/S l

GSS 2 JLsA— / Silver S JLsS— / Silver SAr5L— / Light gray 7K 58/ Approved 18X /Checked H[X/Created R /Product number =/ >eale
BSS 2 )L3— / Silver 2 )LsS— / Silver 754 / Black FCSO-[I1-7500 (W400~ 600mm. D400~ 600mm)
BBS 2 )LiS— / Silver 7574 / Black 754 / Black iR (5% %) bR \ g
BBB 75v% / Black 7594 / Black 75v% / Black YERH /Date 2019/12/20




L —L348] / Frame3 side

I
!

L —L 18] / Framel side

(I

L —L448] / Frame4 side

W (400~ 600) 75.4

D (400~600)
—

>

|
-l

TL—L248] / Frame2 side

(N

C: IL—LIHEKE

Frame cross—section

A-A(1:10)
INAAF ISR ILE T % / Slide panel Max dim. W-40

Bt iE / Max dim. W-46

[ —

REIEDHN\RILERNTiE / Screwed panel Max dim. W-46

B-B(1:10)

Exh~Ti% / Max dim. 69

38.2

[{e}
§ T
ol o
g E
'-6'0
x | X

©
s =
TC)\
n| T
N
H
i C
R
i
=2
N~
o
<
oy
<
A
”~
~

REIEH/ARILEZI~TE / Screwed panel Max dim. D-46

FvkL—JL / Nut rail
AZAEFVbRE

AFTVA T avfh ASARFYb FZ-3 #ANDENHEFT,
Groove for slide nut
Slide nut FZ-3 (sold separately as optional parts) can be inserted

]
|

BRSHINTFERITE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title
2)—H A XRyIR
CUSTOM DIMENSIONS BOX

S
S S—

B/ Approved

iR

18X /Checked H[X/Created

FHt hiR

B F /Product number

FCcSO-0O-7500 (W400~ 600mm, D400~ 600mm)

RE/Scale
1:10

{ERLH /Date 2019/12/20




18.1

18.1

8.7
4.05

8.7

4.5

1.2

1.65

2.5

S

.

19.7

13.7
8.2

1.8
5.7

13.7
22.7

14.7

74.4

14.7

4-M4

FwkL—JL / Nut rail

3-M3

W-46

i

56.7

JL—.s1 / Framel

BARHINTFBMTH o]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD.
733/ Approved 18] /Checked H[X]/Created FIZF /Product number RE/Scale
H75.4 — W400~ 600 =3
iR At iR 3 /7

2019/12/20




3

L,

i

JL—.L.2 / Frame2

BRSUINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title
JL—L2

Frame2

o]

B/ Approved

iR

1% X /Checked

FFt

H[X/Created

iR

B F /Product number

H75.4 - W400~600

RE/Scale
1:3

{ERLH /Date 2019/12/20




18.1

18.1

8.7

8.7

4.05

4.5

1.2

1.65

2.5

S

.

19.7
13.7
8.2

1.8
5.7

13.7
22.7

14.7

14.7

74.4

4-M4
FwkL—JL / Nut ralil

3-M3

D-46

i

56.7

JL—.L.3 / Frame3

BRSUINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

o]

B/ Approved

iR

1% X /Checked

FHt

H[X/Created

hiR

B F /Product number

H75.4 - D400~ 600

RE/Scale
1:3

2019/12/20




3

L,

i

JL—.L\4 / Frame4

BRSUINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title
JL—L4

Frame4

o]

B/ Approved

iR

1% X /Checked

FHt

H[X/Created

hiR

B F /Product number

H75.4 - D400~ 600

RE/Scale
1:3

{ERLH /Date 2019/12/20




INAAFH N2 )L / Slide panel

Bt / Max dim. W-40

BH#~FiE / Max dim. D-40

L1 &H /IR JL / Screwed panel

JNARJLERTE / Panel Frontside

Bxh~Ti% / Max dim. W-46

B#TiE / Max dim. D-46

INARJLERE / Panel Frontside

fREES —MA

Surface protective film side

fREES — A

Surface protective film side

15 W-28.1
s
<
o
INRJLEM / Panel Backside
4-R6
1.5 W-28.5 8-24.2

o

™~

<
0
[ee]
BN
o)

o

™~

<+

13.75 13.75
I\ JLEME / Panel Backside
f%/Title A —1
N &= R
TAKACHI| #RXEtahFEMTE IFIL O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
A& ER/Approved 18X /Checked #X]/Created B F /Product number RE/Scale
W400~600 - D400~600 18
iR Bt iR .
{ER B /Date 2019/12/20




	FCS□-□-75(W400～600mm、D400～600mm)
	FCS□-□-75(W400～600mm、D400～600mm)2
	FCS□-□-75(W400～600mm、D400～600mm)3
	FCS□-□-75(W400～600mm、D400～600mm)4
	FCS□-□-75(W400～600mm、D400～600mm)5
	FCS□-□-75(W400～600mm、D400～600mm)6
	FCS□-□-75(W400～600mm、D400～600mm)7

